%

i & ¥ | [x&&= [A3561—06] & | 1/7

IN— Y 1) Xk

BEiEYEE EHAC—80A
EHAC—S80A 2{Z&

INEE
F1) HRORFTHPER7FFTEFHREPUEER10FERBLEKAT, MBRADEE
WAENMEILEERY, EEDOADMIGLEGYET CEEITERBVEY,
F2) I—mb-YEM (X, B BEFAR) KADMEETHY ., ELLHBED
HYFETHN, CTEBVET,

fEB 20154 028 20H

kX£ttartvsy




EEEYEE EHAC—80A-EHAC—80A 25 (¥vhyyzm | XEES [A3561—06]| & | 2/7 |

LA

EA011904-2



_EEEYREE EHAC—80A-EHAC—80A 2 (xvhvszsy | XBES [A3561—06] B [ 3/7 |

g2 | a—F X B %%
1 | 002003592 | Y5 yF~7—R 80A 1
2 | 003016001 | R—JLRFY>% 60012Z 1
3 | 003110150 | RFvTY>Y S—15 1
4 | 002003593 | JA—L7RkA )L 80A 1
5 | 003150814 | BHY—RUZvF# MCZ—150 1
6 | 002003584 | FALF— 5Xx5x 13 (FHJIS) 1
7 | 003150822 | #MURHEF 1—T d5X p4. 6x240 1
8 | 003150592 | 3> %%+ BXA—001T—PO. 6 2
9 | 003150821 | /"4 XAP—2V—1 1
10 | 003606004 | R—)LF1)>% 6004—2NSE 2
11 | 002003591 | ¥4/ —X 80A 1
. 003160287 | T)LP—<v¥ LGU75—5MLGS8 1

003160741 | T)LL—<v% LGU75—3MLGS 1 |2t
13 | 002003605 | 7<AIAFARILE M4 x20 FX 4
14 [ 003110421 | RFyFT)>Y H—42 1
15 [ 003110193 | RFvyF)>Y ISTW—19 1
16 | 002003590 | ZL— 3>t v+ Tk 80A 1
17 | 002003588 | hv )24 3%+ 80A 1
18 [ 002003606 | AAIAFARILE MBE X 40 FX 4
19 | 002000938 | 7w~ (N) EH26 2
20 | 002001622 | REIAFHRILE MEX 15 K54 4

002004007 | 74+ vk M8 7 *%® 1 No.0715001 LA
21 002002555 ;4;;!‘!# V) % (I8EY) 1
22 | 002000842 | RF)>% EH26 1
23 | 002002564 | FIERHE> 70A 1
24 | 002003604 | 7<FAIAHRILE M4 x 35 FX 3

003161207 | /\2RJ)L MUH—93 (H/3—F T ff) 2 1| Noo715001 LL1BE
25 003161128 s;‘sla“ll 115500250 (IB%Y) 1

002004013 | RAUFAHRILE M6 X 20 FX T2 2 | No0715001 LA
20 002003607 | 7<AAIUFHRILE M6 x 30 FX (A% 1 | EERY
27 | 003010605 [ R—)LATF1)>% 6052Z 1
28 | 002003587 | VA—LF¥ 80A 1
29 | 003220405 | ARAIUFIERRL(URIFE) M4 X5 2
30 | 003606001 [ 7R—)LXF1)>% 6001 —2NSE 1
31 | 003110120 | RFwTY>% s—12 1
32 | 002003586 | N7 Twvia 80A 1
33 | 002003585 | E—427L—F 80A 1

XyAyR &R — | 351z4E

. 003161120 | ¥¥ vk 6DG—12. 5 B® 1 | #ERY




_BEEYEE EHAC—80A-EHAC—80A 2{& (xvkvoziy | XEES [A3561—06] B | 4/7 |

B85 a—F BaAA - RiE ik "5

002102477 | DOE—H84Y T6—21Q-BE—12 5—F1547-24V

35 | 003150813 | DCE—4 DMEGOSEHPB !
DCE—4&FY TG—21Q—BE—10—F1547—24V

1 No.1214001 LLf&

002102476 | .2 1| oftsk
36 | 002003601 | EEEHHAPA+FF N/l M4 x40 FX 4
37 | 003150591 | E~a>4%k BVH—21T—P1. 1 2
38 | 003150820 | /"4 VHR—3N 1
39 | 003150888 [ v—YFa1—T B ¢$3.2x180 2 | No1214001L152

¥ No.1214001LEINEEIS5 TDCE—4(BE)] % IDCE—F&XV(FHHE) | IZXFT 55,
BE34 TXVvAyF(EE) ] 1WMYIZFTLT,. BEIID (x—HUFa—T] &ty FTRBLTLES
LY,



|A3561—06] B | 57 |

EES S

EA012004-4

HEXYEE EHAC—80A-EHAC—80A 24E:5E (50



_BEEEYEE EHAC—80A-EHAC—S0A 24 (#1525 | x2%25 |A3561—06| B | 6/7 |

25| a-—* R e BE
1 | 003160997 | +FFNFyEHRLA M5 % 20 4
2 | 002102297 | F547v%-CT#l 80A 1
3 | 002003603 | EEEHHIAPT1+FF /ML M4x 10 FX 4
4 | 002003596 | EREEIL—L 80A 1
5 | 002003602 | +=FM/Nal M4 x10 FX 3
6 | 002003598 | Ltk t1. 5X95x%x110 1
003150891 | RAwF Y EIJR PBA75F—24—T #® 1| Noo216001.LAR%
7 003150816 | Z4uE 4 EE HWSEQ 04 (8D 1
8 | 002003597 | 74 )L t1xX15x15x 100 1
9 | 003150819 | ¥—JJLAA TRCV—280 2
10 | 003390425 | EEEHHIAP3+FF N/l M4 x25 3
11 | 002003589 | a—K%1)v7 80A 1
12 | 003390408 | EEEHHAPI+FF N/l M4 x8 1
13 | 002102300 | 7—R#r#0 80A 1
14 | 003150638 | i F& F2007NS—3 1
15 | 003390415 | EE£HAP3+FF N/l M4 x 15 2
002102071 | R/S—9F5—4#8 130Ai #® 1
16 002102028 | = :‘17—)\: ,\“M(IE&_’) 1
17 | 002102299 | ACEIR/\—#R#H 80A 1
18 | 002102298 | DCER/\—+ X4 80A 1
19 | 002003608 | EEEHHAP1+FF N/l M3 x22 FX 4
20 | 002102295 | 7F+A% &tk 80A =V 1
21 | 003150481 | RR—+ C—310 4
22 | 002102294 | CPUX R 80A 1
23 | 002003595 | I L)% 80A 1
24 | 002003428 | g fFtz> Y —)L 130A 1
25 | 002003429 | E—FE)&ET—)L 130A 1
26 | 002003600 | EHAC —8OARIE A LT 8#44R 1
27 | 002003594 | HfHIEMR 7 —R 80A 1
003161136 | &+ vk M3x6 &Eif #® 4 | No.0690001.11R%
28 003280300 | RAF vk M3 B 4
29 | 002003599 | #vyF—bk 80A 1
30 | 002001800 | a—K7—=< 6V 2
31 | 003150057 | E&iHF 3. 5—R4 *V*2 12
32 | 003150479 | #)a—FK 3% O3. 5 463mm *? 1
33 | 003150480 | #)a—FK 3i% O3.5 5313mm *" 1
34 | 003150042 | ¥+vvyJ O2. O "2 12
35 | 003150027 | BF/kaRY% 3P—15A *2 1
36 | 003150026 | fF/kT5% 3P—15A *V 1
37 | 002004008 | ZE&E{F2{FE—I/L 80A 1 2{E:&




_BHERXYEE EHAC—8S0A-EHAC—S80A 2£Z 3 () | x2&25 |A3561—06| B | 7/7 |

%5 a—Fr 0E A BB B3 BE
38 | 003161171 | FEESL 20%x12. 5%x0. 5 2

*1 | 002002561 | BIEO—K# 70A 32 148 | 31,33,34,36
* 2 | 002002562 | HHAHa—K#H 70A *2 148 | 31,32,34,35

GE1) 7HARTERBOANDT Y UIl—EFUSW8ZEZ 100 VIZELEZ TLEXLY,
GE2)IEBRaO—F#H 70A1 &P . THAO—F# 70A 1 [XEBEENLGL . ZIEEDEEAHYET,



